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int *p;
int x[3];
p =X
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#include <stdio.h>

class B {
public:
virtual char f() { return ’B’;}
char g() { return ’B’; }
char testF(B *b) { return b—>f();}
char testG(B *b) { return b->g();}
+;



class D : public B {
public:
char £() { return ’D’;}
char g() { return ’D’;}
¥

int main(void) {
D *d = new D;
printf ("%c%kec\n", d->testF(d), d->testG(d));
return O;
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a(l) :- b.
a(2) :- e.
b :- 1!, c.
b :- d.
c :- fail.
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(1) Z=(X+4);
<Xo0>—3 <40>—-14
<(X+4),0>—>17
<Z=(X+4);,0>— ol7/7]
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(2) while(Y){Y=(Y-1);%}
<Yo>—-1 <lio>—1
<(¥Y-1),0>—-0 <Y,0[0/Y] > — 0
<Yo>—>1 <Y=(Y-1);,0>— o[0/Y] <while(Y){Y=(Y—1);},0[0/Y]> — o[0/Y]
<while(Y){Y=(Y—-1);},0 > — 0[0/Y]
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